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"Did you mean to do a np'N¥ or a nnpn?”
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(:NN NIYVIAY) 0D PMYIENY MY NN XNYM NNXT XD'NI
(o nx2) N pny 4
Artscroll note “17” says on this : “Some understand 17’s silence to mean
that he conceded the point etc....Others maintain that 21 remained silent
only because he did not consider the question significant.”

The conceptual 0”win Nion
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Another one
['N'INNN NI' YN MNXpLAN' INTaa "X 0NN 2112 N2 XTI N ane Ll
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A “N” Is Written
(:02 7T APYAT) P PN AN W TIX TR X 020

Now what does it stand for?
(.30 0173 °%22) 1IN

What else could it stand for?
(.73 D3W) .11 ,Max Ma1 RN ,mnn,ann
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A 1’0 to remember that >N is D°7TI0 Mwn WX (acc to YN 13 vawn Pu):

(:102 O P RPYNT)

The 1’0 is “In which month do we say “17152”?
Opposite MY of »2aX:

»IX says U211 WO nXnnb:
(>10°11 O3V X211 The Definition 3 P"1n)
»IX doesn’t say L2712 WPRwR mXnnD:
(( he argues with 113 7 who says it is half third or quarter ownership )7 No’anN The Definition 11 0°7171)

Items not yn121 |nLa (insulated by coals):
1. Anegg on NAw etc.. (N2 says we made a N1'TA not to insulate an egg in
sand on account of this, and even 'OI' 1 agrees)
(.05 Nav)
2. A non specific species of gourd that is called nXinn Ny>1
(and on 'wX M we said NN2I'N)(This might be interesting the Mow
might imply it is a species which is normally prepared (cooked) by being
insulated in coals
(Db 'Y]'J\!JI'\') NXNM2 NNIX ['PAN [Nl NN nyoT ['MD N1N 1NN
(.N2 DN)
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(:2'p D'NDD) XN ..1D1 NQIXT NATI L1201 0T AT NINT XA L1010 NN
How is saying “nt N” going to help someone from being attacked by a lion?
NN RIN DY NOX "N MKY [1'DN1 XD NN L.IDEWAN [N TN

(.20 0T Mdwiny)
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| want to say there are at least three XT2r 12’s in D"V
(.IX Naw) X122 'Ol
(:D NAW) XTAT 12 NN
(.X2 0T MOWINY) NTATIA NN
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| don’'t remember ever seeing him in *>22
N2 DIYN [N'DY ['PI2 NID'A1 0NN X110 1212 '01' 1 0w XD0Np ‘a0
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Is this the Xan or the X1INX?

(.12 0172 'ASWIN’) 'O'X "1 DWA XNX 12 apy' 1
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Two D°17 with *10°11 D311 X211 TN

(:73 ©773) 12K 922 M 13T R TN
(.X2 07171 °n5U) 19K D22 MOX 17TR LR 1IN

There are three 0’7711 That are 0711221 7°X2 97N
(:X1 0°773) FAMXTT IR T
2. | want to say according to the 77U 127p

(.X2 0773 °n5u1) (perhaps *22271 w2 099°K) 0B%1T 1A 1T

(:X10°771) QUIY PRY O°37 17
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Two D0°3°7 with 191 ¥ (Cotton) found in 0”W:

D02 D°wun1 12 P°2777 MOK XiT? 12 OXT 0N 117279 1K1 PRI 193 1AK% 012192 1130 2°u onunpa w1
(Yum ja XY 92 1"7 ' 72 NAw) .21 712095 TX7A 210 0N 193 KA PRPhInw o

"1 says it is not 7D to light shabos candles with cotton and 0N ' argues.

2 MPX X0 1300 XY XOX 112N X2 12 773 MODNI? 1300 X¥PT 777 MOodNT2 1277 XY 1277901 .2
(.12 ©773°0PWN) 193 INX PIA NI N12°272°0P 11 NX

If someone is 771 from 91 71X which is technically the cotton plant, he is allowed to receive
benefit from the plant, and just forbidden from receiving benefit from any cotton that would be
made from it.

1Y X912
(.1h Naw)
(.nu Naw)
(.12 T P YTY)
¥y "y
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vy 5y i

(.2 T P RPY)

nr17°u: City Dwellers, of the City Dwellers etc..
A 13wn which speaks of the NI7°u:

MY X X PITY 12 TWHK 1 27 KXW XA DR 2K Maw Dr3n Poabx
PIX TN NPITU XA DPIPY AN "N NP0 KA L121 109XD7 77031 XPW 5 217 Xwnd
(.25 1¥a) XN»Hpn Uy

That right there is talking about the N1’37°L:
(.5 NAW) NrI7PUa XN XN 21N 12 DRI 17 7772 590 XNan
His words appear with respect to n1°37°L:
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Fast Broken Too Soon

If one broke his fast by accident before the fast was over (M2°X n°1un)

the 17U MW paskens that it is the same 777 as a 773 N°3UN where one said “ 771 01”” and he must
complete his fast but in the case of 771 N°1unN where he didn’t say “ 111 O1°” he doesn’t need to complete
his fast that day.

(:12 07771 NP (3-X 7O MOPN 07N MTIX)

71°1n7° 71 Was Humbled

(:32 XN2 X22) XWITN 20 PR D Impax X7 .1
(.12 DT °R5WP) PR TRUW TU TP TRU KD D23TRpWw 1912 X011 121 K1Y 12 Dnwn 1R K .2

nPI1un NS nbwva

| want to say it seems to be a NP1?1N between *22 and *1%Y17 in the opinions of 12 12 LY "N 13 7
but either way the 71pon is D> 721N I N°1UN N> an mowa.

(.11 0773 °PYP XAX ) (:w mwn w1 °S22 X0 0no)



